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1.1 1]
3 Among —.=,—,= the non-terminating decimal is
23475
ELLE e |
5 3: 2’5 &R Yopged® vososd eaeoio
W 1 1 1
iy oy 3) — s
g o <@ 3 ® 5 OF
¢ If A={P,0,LY,T,E,C,H,N,I} and B={E,X,4,M}, then 4~B-
A={P,0,LY,T,E,C,H,N,I} $bats B={E,X,AM} o8, 4~B-=
1 {P} ey 3 (¥ @ {1}
5 If 4={1,2,3,4/5} and B={4,56,7} then 4-p-=
4=1{1,2,3,4,5} Satm B={4,5,6,7) eavs, 4_ 5
M,z, 3} 2) {3,4,5) 3) {5,6,7} (4) {2,3,4]
(6)  The two tines 2x43y=7, 8x+12y=1 are lines.
(1) perpendicular (2) parallel (3 intersecting (4) none
2x+3y=17, 8x+12y =1 % Baen Ben.
(1) oo (2) oroess (3) poud (4) D& soess
7 If ‘»’ is a prime number, then \/E is v
(1) Prime number (2) Composite number
«@) Rational number £4) Irrational number
N ok 28 (Herd Yowg wownd, \Vn wds
(1) s Sopg | g (2) Soos¥ dosg
(3) estedan sopg | (4) 86 Homg
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8 If ax+b=0, then x= .....
ax+b=0 vowd, x ded .....

. | b . b
GRS ) b b
(V) -a 2) a (3) = (4) =
N\ . 2, g g 5 4 :
- The solution of system of equations —+—=13 and ———=-2 is ....—,
\ ( * ¥ PR / )
23 ] L
—+—=13 Hdaw E—i=—2 0D JDESEO D ...

(XY

X y .
o) ol o) - 0l

—

10 Product of zeroes of polynomial Sx? -1 is

S:u:2 -1 &3 250H0 By, uﬁra;ge: e.:faér:ﬁn
1 S 1
" PR K (3) = @) ~3

11 (x+a) is a factor of f(x), if
(x+a) &B0 f(x) @ng sdosss’

om0 seam o D0 D)

12 If o, P are the zeroes of the quadratic polynomial ax? +bx + c,a#0 then
a+p2=

m:2+bx+r::,ai0 R DT DYy, Frargen o, P ©od :12+[32=

(1) aiz(bz +- 2ac) 2) aiz(ci - 2;1&) (})/Hiz(bz - 2ac) 4) ;12_(2 — 2.&1&)
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13 J2+43 is

(1) Rational number | (2) Irratiuna_l number
(3) Prime number (4) Composite number
J2 +3 wdse

(1) odssdon dowg (2) ¥sedon Hopg

(3) e Howg | (4) Sooxnd Howg

14 The value of logg,s5 is
loggys S @Boosy dewdd
4 >
1 1 4 1
1 3 (2) 7 8J 3 @ 3

15 The H.CF. of 7, 8,9 1s
'?, 8, 9 o A..2r.
(1) 9 2) 7

i ; | f
16 If three points (8, 1), (k,—4) and (2,-5) are collinear, then k =

8, 1), (k,—4) woato (2,-5) Dothiper Whotres wand, k= &
1) 4 2) 3 (3) 2 41

et

17 Distance between the points (4,-8), (5,-2) is
(4,-8), (5,-2) Dot g Erdimd
M Jiol 0 @ B By 37 @ 18

18 If the equation 3x%+2x+k=0 has real roots then k is

362 4+ 2x+k =0 &Sm0 TES Sareren S0 ¢H)F k Jes

: ! k{l @)kzl
(Y k<3 @ k>3 @) k<3 -

e S—
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19 The condition for ax’ +bx+c=0 to be a quadratic equation is
S ax® +bx+e=0 2 5 B EBE0 SHBD BAS DoVDHN DB ?
¢y a#0,a,b,ceR 2) a=0,6=0,c%0
(3) a=0,6#0,c#0 | 4) a=b=c=0

20 In the following equations, the line passing through (0, 0) is

j)a S ESeres®, (0, 0) Mo B T
(1) y=mx 2) y=mx—c 3) y=mx+c  (4) y=c

21 The sum of first 100’ natural numbers is
2oesed 1007 Hees Hopge i f
(1) 2250 (2) 5100 (3) 5000 (4) 5050

. 22 Find the 10 term of AP. 5,1,—3,~7..... is

5,1,—-3,-7..... ®08 B& @n¥y. 10 & Hesi
Ay @) 31 3) =27 @) =35

23 If the 29 term and 5™ term of a GP. are géﬁ /3’[ then the » =

e RAS® 25 HeSo B0 5% Heso .24, 81 oond, =

"’-,_'rr - or i ‘1

(1) 16 @)'3 - (3) 20 L@

24  Which term of GP. /3,3,34/3 .... is 729 ?

V3,3,33 .... thea(fids &* 408, 729 Iy Hessw
(1) 10 (2) 12 (3) 14 @) 16

SPACE FOR ROUGH WORK / g 508 Serosorsesd gom -

POLYCET-2023—C ] 5 [P.T.O.

L]
&collegedunlaa
India’s largest Student Review Platform

-~



—

\
\
\

\

25 ‘
If the roots of the quadratic equation px +qx+r=0, are equal, then q2 =
PX +gx+r=0 55 5ssmo Qg dreren DS qz =
(1) 2pr (2) 3pr @) 4pr 4) 8 pr
26 If a,b,c are in G.P. then Ei
a,b,c e e @S &% e
_Eﬁ RO
b .
= _.C b -
-3 o B) - @ -
/)
27 The sum of roots of the quadratic equation 3x =6x+1=0 is
3x% - 6x+1=( 5 B &S0 QA& Horere Baaé:m |
(2 - senigirfe mons s O
f{ﬁ M . | 1 3
28
/2 If the radius qf a sphere is 3.5 c¢m, then the volume and total surface area of a sphere
“ are resgectwel}r .. (use m = E~) - | v
539 '
w 2= cm3 77. cm2 - e Loy
5 ;:" cm r (2) g cm3; o sz
:
Do iais 3. ’
(3) 3 cm>; 49 cm? | (4) 533—2 cm?3; 154 cm?
&8 Ao Bng) Tmedrdo 3.5 0.5
S N ®on8 ﬁ“?&‘ﬂ LSS WROAre0 HdAK Vogrsse
JTergen HHHT ... (m= o éﬁ:}%‘“éﬁ:mn)
539 -
(1) —— 0.8 77 .3 ¥ e
S; 20.2) (2) g &0 F 5 %0
3 — = 539
(3) 3 W0.0.5 49 5.0 (4)3—@% ; 154 $.20.%
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29 If the ratio of base radii of right circular cylinder and cone is 2 : 3 and the ratio of
their heights is 3 : 4, then the ratio of their volumes is .....

g Syped o ot dobhih Qg g TgTre KPS 2 1 3 Hoak 78 o
MKB,3 : 4 ©awd, T i HoIrere IS ...
Wl 4z 3)9:8 @) 1:3

f%: . The value of cos 60° cos 30° —sin 60° sin 30° is
Sooifg |
cos 60° cos 30° —sin 60° sin 30° By e

M 5 o 2 3) 0 @ 1

31 The points of intersection of the lines 2x+3y-5=0 and 3x—-4y+1=0 lies in which
quadrant ?

2x4+3y-5=0 200 3x-4y+1=0 Bpo podd Hoth) » Bos® dotkdn ?

QI . @) IV 3) 1 — 11

@If the total surface area of the cube is 864 cm?2, then its volume is .....
(1) 144 cm? (2) 1728 cm3 (3) 3174 cm3 (4) 576 cm? :

om0 GAnk), BoRPEEe Bego 864 $.30.8. wanB, oD i HOEPEED ...
(1) 144 20D, (2) 1728 .20, (3) 3174 .o (4) 576 .20.2v.

-

| (A+B
33 Inany AABC, the value of sjn[ > J 1S

A+ B

] ¥y, dewd

(1) sin(g—] 2 cns[%j . (3} sin[A;?] 4) cns(A;B]_

SPACE.FOR ROUGH WORK / i 508 Heranoises He

98w AABC &, sin[
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Spectively 81 ecm? and 225 cm?;

lf'EFhﬁgm
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37 Find the area of the shacied re:giﬂnl in figure, if ABCD is a square of side 14 cm, APD

-and BPC are semiciroléé. (use T=—)

e . e e e B R A
'Lﬂ:"l.? _..I-.i:‘llh _'-l_"ﬂ'.?' P

Y iR
-l.\-:":':l-

B : LY.
(1) 10.5 cm? 2. 21 cm? \ (3) 42 cm? (4) 154 cm?
808 Hom&” ABCD &5 hao 14 0., APD 980 BPC o8 Hymen, ©ans-
_ P, |
6 B (@08 Jrogin SHFDEL. (T i S8 HEH0)

A 14 ?m.ﬁb B

P
-|.'|__J .la..f ilrﬁ':;‘{;’_d_.-
AT

D
(1) 10.5 320D, (2) 21 SRod.  (3) 42 sdod.  (4) 154 S0,

38 If a right circular c:yl%;ier'has base radius 7 cm and height 10 cm, then its volume

1S ..... (use = e

(1) 154 cm? 2y 440 em? (3) 4400 cm3 (4) 1540 cm3

28 (5D H)TsE Grvo BwEy & orgdo. 7 Ro.d. Hdat A 10 o.d. $9A BB, ed
o | 5 .

R e G ST WE)

(1) 154 0. (2) 440 ool (3) 4400 w205,  (4) 1540 H.20.5.
, = | : |

i .I‘h-‘r -
SPACE FOP ROUGH WORK / 94 598 Semonosinds gois
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39 In the given figure, /4DE = /CBA, if AD=3.8 cm, AE=3.6 m:ﬁ, BE =2.1 .cm and
BC =42 cm, then DE = ' ;

& (800 5008", LADE=ZCBA, AD=3.8 0., AE=3.6 20.%., BE=2.1 20.%.
. 0w BC =42 20.. ®and, DE = :

(1) 2.8 em (R0.2.) (2) 2.1 cm (30.20.) (3) 3 cm (0.5.) /&H.B cm (’:‘au;.ﬁb,)-

40 {n :51 trapezium 4BCD with AB| DC and diagonals intersect each other at the point
O". If 4AB=2CD, then the ratio of areas of triangles COD and 4OB is .

@x2050 ABCD 6* AB|| DC 80t o9 Soren 50780 ‘0’ & Do) 5 woBoHE odrow.

AB=2CD ©ow8, |@zhesiwen COD &doty AOB © Brogive A8 ...
(1) 21 2) 1:2 3)1:4 4) 4:1

41 Ig the figure, if AP and 4Q are the two tangents to a circle with centre ‘O’ so that
ZOQP=15°, then LQAP= ..... ' :
[Bod $6E&" ‘0° Bogorr Ko H)ads, AP H80m AQ e» Bod $)60men Hrdoxw
ZOQPP=15", wond LOAP= ...

A

(1) 15° @) 600 . (3) 300 '/d) 450
- SPACE FOR ROUGH WORK / 96 £98 Seronodans Som
T g
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42

43

44

45

The angle behveen a tangent to a circle and the radius drawn at the point of -
contact 18 '

a8 58 9609, )80 thoe ADS abgﬂnnhag Besg Seatn
(}/) 180° /@’)' 90° (3) 45“ (4) 60°

A circle with centre ‘0°, ‘P’ is a point outside the circle and P4 and PB are two
tangents to the circle at the point of contacts ‘4’ and ‘B’ from ‘P’. If the length of
PA = 10 cm, then the length of PB =

(1) 5 cm (220 cm (3) 10 cm (4) 2.5 cm

‘0’ So[Bdwrr e H)zd8 ‘P’ &R Do) erdrgind® Sod. ‘P’ Dot thom H)E°8 ¢ ‘A
oo ‘B’ &8 0)6) Dothipe $¢ Aabadd 0)8) Bwen P4 oo PB. PA ay =
10 20.%. wond, PB &6 =

(1) 5 0.5 (2) 20 0.2 (3) 10 20.5. (4) 2.5 20.5.

A tangent AB at a point ‘4’ of a circle of radius 7 cm meets a line through the centre
‘C" at a pnmt ‘B’ so that CB = 11 cm, then the length of 4B = .....

) V1 em . (2) 642 em () 9em (4 12cm”

T Ri0.25, Hﬂgéﬂﬁo &Ef}'l D) AB ﬂ;){s_?ﬁﬂ) ‘A’ B &°80h. H)E ﬁn@ﬁo ‘C’ Dod na;)ﬁg'éaa
D o Hoth) ‘B’ % drdo CB = 11 0.ad. oD, AB &Y = ..... |
(1) V71 20,  (2) 642 0. (3) 9 od. (@) 12 0.

77 77~} 154
r— 2 S 2 . T 2 S 2
1 — cm (2) 5 em? \}}a/rf em 4) — om?

D)bo BwEy aﬁgéﬁgn 7 200.8). LBoXD VD &0 30° ®ond, DED E;aﬂeéga‘m

22

(‘ﬂi‘= - ST D).

(1) % $.20.00.  (2) g 5. 290.8D. (3) %% $.20.0. (4) E 5.200.5.
) : o R

POLYCET-2023—C ] 11 - M collegedunia
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46 If no value of an un

determined ?
(1) Median

grouped data is repeated, t'henlwhilch of the

47 The price of the ﬁfteen shares in rupees are as follows
46, 25, 11, 73, 73, 59, 28, 25. 73 3025825 8025
W?nat 1S the Mode of the price ?

. E(:J "3&6 QAE). ¢5Sen drévoaaeaeﬁ’a &3 Lﬁo& Ao & Aon
46 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8 25 80, 25

O, ¥ o BwE)
(1) 59 '

(2f Mode — Median =
(3) Mode — Median .

2PV ELN) ol}oé ?

following cannot be

N (3) aauzxaoe;séas» @) %ew

@n J;Me“ @

48 Emplrlcal relatlon between Mean Median and Mode i IS
- (1). Mode + Median = 4 Median — 3 Mean |

2 (Median — Mean)
= 2 (Median + Mean)

~ (4) Mode + Median = 4 Median + 3 Mean |
e, Besg Bt HBAk aanasnoeéxm D&y, o g aaoa)ocﬁén

(1) eridodiin + g st = 4 docse Kt — 3 en
2) wmegm s e = 2 (mqsg e — men) '
(3) arém%‘-‘één é)dzg K = 2 (éJQSS 0 + Men)

(4) oy + a’))ﬁég Kesd0 = 4 DeSe e + 3 drien

49  What i 18 the medlan

of 47, 52 57, 62 167, 72,77, 78 2

47, 52, 57 62 67 72 77, 78 © Deg Bt S
i TE(2) 6T ~ %645 @) 695 s

50 Find the mlssmg value of “p” from the followmg table when Arlthmetlc Mean 1s 3.55.
- _Léoé é@oéo A ©o¥ é)fﬁgé)o 3.55 ear:mc“o “p” &méa_ dend

(1) 62

|X]1]2]3T4]

F 18|19 pli6
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cot 45°

51 The value of —— ~ s
, sin 30 + cos 60
t45°
£ ~ Q¥ dend
sin 30° +cos 60° ™
(1) 2 (2 -2 (3) 1 (4) -1
1+sin@
52 The value of 1—sing S
1+sin 0 |
1-sin® Dy Do f
(1) secO+tan6 (2{c039+5in9 (}/)’fsec6+mse - (4) sinB+tan6
53 The value of tan 26 -tan 64° is oo
tan 26° - tan 64° GBEy,. Jend
(1) -1 (/{ (3) 2 - (4) =2
54 A person is flying a kite at a height of 30 m from the horizontal level. The length of
string from the Kite to the person is 60 m. Assuming that here is no slack in the string,
the angle of elevation of kite to the horizontal level is
28 Hg8 88e VErosY Frow 08 30 &Y IHS® mdHo arﬁﬁﬁa'na:ulm m® Ho 84
Q8.6 S Seenrr é&am 408, © 928 Dod mrdi0 8K @A PdH 60 . vond,
© mdHE0 88es Hhrods Qﬂﬁn&" Doy v
600 ... (2) 45° (3) 300 (4) 90°
55 Two events E; and E, are mutually exclusive then EiNE; =
E; ®000 Ey en 505030 508 Soméden wand, £ NE, =
(1) 5 ) 1 @) ¢ 4) 0.5
SPACE FOR ROUGH WORK / D HI8 Seranosdd o
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2
56 If secO=—= then cos 0 =
V3

2
secH =— @Y, cosh =
)

3

NS 1 1
(1)~ @ 5 108 F Ol

37  The angle of elevation of the top of the tower, whose height is 15 mts, at a point whose

distance from the base of the tower is 15 mts is

15 . I8 Koz50% @9 @k 2750 B08 15 D. $r506* 08 B8, J0zo D a0

e & Jam e ety

(1) 150 ' _(2)-450 . (808 (4) 600

58 If P(A):-%, then P(4)=

P(A)=-2 e, p(7)-

15
13 11 19 14
M 12 @ T3 & ¥

39 A box contains 7 red marbles and 9 green marbles. If a marble
from the box, then the probability of not getting a red marble is

0 XHY) D 508 ey o Sogrigd
)

1s drawn at random

28 DBS® 7 X0 Hden 280k 9 B8 B den sog). 2B Do aﬁﬁ;ﬂgénnﬂ 28 8°9 &2,

)}'16 @6 () 16 _ ®) T

60 The angle of elevation of top of the cliff rf‘rum a point 300 m:fliﬁ:'ﬂm its foot is 60°.

Then the height of the cliff is

L i)

w8 §0d ©db gro 208 300 xS Erso 208 Fox &0t 60° dsde Seos® wrds, .

§%ocs J@f. o
| | 300 200
1) 3004 2) 20043 3y =4 iy
~()73003 (2) 20043 G) 3 ) —
SPACE FOR ROUGH WORK '/ 9e6) 98 Serorrotas o
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SECTION — B : PHYSICS (°8% 7°%95w0)

611 The magnetic force on a current carrying wire placed in a uniform magnetic field if
the wire is oriented perpendicular to the magnetic field is

2,8 ;.’:a’n @aﬁaﬂa_ué E15°08 vomore ¢d) g8 (Hardro Ko éﬁ%} HIB 200080
B L I

g/{ F=BIL - (2) F:T (3) F—E (4) FZE

62 Find the length of the conductor which is moving with a speed of 5 m/s in a di-mc:tiun

perpendicular to the magnetic field of induction 2 tesla if it mduces an emf of 10 V
between the ends of the conductor.

(1) 1m (2) 2m ¢ I, T T (4) 4m
B w08 wdarde FroldE LOND | BFH eoworr 5 ./ W08 Shendrd)
s & Ve esg 10 ¥V dedogae Y8 2o (30005088, & &K% U

(1) 1. (2) 2 . (3) 3 . 4) 4 .

63 According to which law ‘Induced emf generated in a closed loop is equal to the rate
of change of magnetic flux passing through it’ ?
(1) Coulomb's law , enz's law’
(3) Newton's law (4) Faraday's law

@ DoHIO [H5°80 ‘28 Ho)d dBYE® b mgan,)ag 200 By Jend, @ hHowe e
©OH 08 OPTF K Tentd o' ?

(1) Hewross daHdw (2) BoF JaHddw

(3) rgeod davddnd (4) 68 Do

64 Electric current carrying solenoid behaves like

(1) Bar magnet (2) Horse shoe magnet
(3) Insulator (4) Steel rod

A& (B8R0 ﬁsaﬁgmﬁ e [HH00d

(1) &Socs ©OHIP. 0K (2) D|Bomrds ©ONHR°P. 08
(3) ovardgin (4) ey 86

SPACE FOR ROUGH WORK / ¢ #98 Seronousads deoin
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65 Acmrdmg to “Right hand thumb rule’, if thumb of a rlght hand indicates dlrectmn of
Lwrent passing through g straight conductor, then curled fingers of the same hand

{pp esent
Dlrectmn of magnetic field (2) Resistance
f&; Direction of induced emf (4) None of these
98 B8 e Sew QI0SH' 55280 2, HA B 5°6% Bew ety %G0B avdrgods® DS B
WAV, 08 B8 HEDS BRY) & S aw.
#l) ©and 08§ o (2) et
() (25028 M.}gﬂ“;)ﬁ}é 200 & (4) @2d 5°%)
£xy
66 i;east distance of distinct vision is _
1) 25 m (2) 25 mm (3) 25 ¢m (4) 25 km
03 632 880 e
(1) 25 %. (2) 25-.5%. (3) 25 0.5, (4) 25 8.3,

67 If.area of cross section of a wire increases, while temperature and: length are constant,
then resistance of the wire

() decreases (2) depends on material

€3) increases - (4) none

SRS B0t Py Do BRUPPD DS Broogo 2008, b By AB*esin
{'5'1:) SeHhr08 . (2) DEOD BErEHA &oen)nﬁh

3) oevebos | 4) 98 éc:'u -

68 According to Ohm's law relation between potential difference ( V) and current (/) is
&D davHo (Hsedo FBADS 550 (V) 0% g8 (Hardro (1) DEe HoLX0sHN

(P e 4) V oc —
p”f Vo] @ Ve 3) Vs T
69 Whmh of the following eye defect js age related ?
(1) Myopia (2) Hypermetropia (S/f Colour hlmdnes\(jl) PI'ESb}’CIplﬂ
& 500 >36° Sy S8 S Bt 98 2
r{l) 08 ¢y (2) &g Sy (3) OGP0 e u@ﬁ) Baredidn
&

e sk 1 .. B cllegeduna
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70 Whlch parts of the: eye controls the mtensny of lxght while entering into the eye ?

.....

(1) Iris and ciliary muscles | J})’ Iris an;l pupil

(3) Iris and cornea 4) Nnnq

800 8S° K083 By, ) grrren Eo3S°8 HVy 5708 é@x‘ém daxo|@an ?
(1) Hhed, DOaNHd Sodoren (2) E’o%}r‘bdéa, D

(3) Berb, s°8)ake @ Ny

71 When white light is incident on a glass prism, the I’E‘&st deviated colour is

(1) violet | (2) orange M&d - (4) yellow
e H50 aes BOA SP08 HSSHIHPE, SKH ?.lz‘ée:-iﬁc apa 5708 oth
(1) o> (2) 8oz (3) Jti.aua (4) &

72 Sensation of vision in the retina is carried to the bra:m by
(1) cornea (2) ciliary muscle /G})/{}ptm ;nerve (4) None
5008 HoSEroD BeSoe HoB BEHH BB 3 |

(1) soyar (2) 200w Sodoren (3) &S aga?e.n 4) 99 %

73  Which molecules are responsible for the blue colour of the sky ?

o530 A BoHS® ER0PEI. T ErdE0ostd o @m{))ﬁu 8% ?

/@H{z Ny - (2) COy N, (3) N,, Hje (4) N,, Cl,
-‘?':_’.'jf.i
74 _If the magnification of the mirror is greater than 1;-then the mirror is
(I) Concdve mirror 2) Cﬂnﬁex mirror
(3) Plane mirror | (4) Noné-:

S8y WHEV0 D 1 %08 DE) D WO, & B8EW
(1) Hewses ¢56easn0 (2) E-imgrs'ud eS8 yeasin
(3) Hdodser B8 (4) d8& sv;fu

‘j-rn,r iy

SPACE FOR ROUGH WORK / dg» 208 "ée:uuum:sm&:a oot
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75 A virtual image is formed by a concave mirror when the object is placed

(1) Between the pole (P) and F @1 Between F and C
(3) At centre of curvature ( eyond C

76 Convex lens is used in the microscope due to the following reason
(1) It gives diminished image -
(2) It gives magnified virtua] image on same side of the object
(3) Real image behingd the screen
(4) It gives magnified real image on opposite side of the lens

@Lgﬁﬁferfi &° H0or5y EO5°Q) $HBrAHE:S S*8800
(1) 298 1800 DY

(2) 2589 g 03002 H) BR), B DEYDHD
(3) B8 30E Jes (800200 &Y _

(4) 2685 des 1880w0 sers-08 H58TE BIS* I8\

77 Air bubble in water behaves like a

B Cﬂnverging lens (2) Plano convex lens

(3) Diverging lens ' (4) None

ABS® $0d O anchres ¥ Sergo 5B B Bwos, |

(1) Sodsse gergs, . A, (2) Sdrde Hoargey SIALENN

(3) JBodssem sergs (4) 8 50

78 The mirror used by d:antist is

(1) Plane mirror Mmcave mirror

(3) Convex mirror (4) None

B0d By SHABrACT €58 3600 . .

(1) sde GG yeasn (2) Hersey S8y
(3) Hozrsey eS8 yeain (4) 28 s
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79 The radius of curvature of a spherical mirror is 16 cm. What is the focal length ?

(1) 16 cm 2y 8 cm (3) 24 cm 4) 32cm
2.8 Brersed aleR=le Go¥y, N Bee aﬂgﬂﬂgu 16 20.2. eond, &8y Frgigoddo oéh ?
(1) 16 200.4D. (2) 8 20.3b. (3) 24 20.. (4) 32 200.9D.

80 The lens which always give a diminished and virtual image is

Convex lens (2) Concave lens
(3) Plano convex lens (47 Concave mrrrm'
DODPE W B wgrg (D8Do0 2 ééaéa’m
(I). $02T0E Eerkin (2) Htrsed Segdn
(3) dvde Horsy Sesn (4) Dérses SSyedn

81 If the refracted rays from a convex lens are travelling parallel to the principal axis, then
image distance is
Equal to object distance
(2) Infinity
(3) Equal to radius of curvature of the lens
(4) Equal to focal length of the lens

So0ars8 E0%o Hod HBo Bobd Bdmren FXrIgrds roddorr [Haxrsnod, [HaHoe
&) | AaC
(1) S Eroed8 B
(2) edosdHn
(3) &8 Hsese mg@vgﬂaﬁ DAY
(4) &% Trgigodoral Shrdin
/‘*’_\\ .
| 82 | What is the focal length of double concave lens kept in air with two spherical surfaces
/" of radii R, = 20 cm and R, = 40 cm. Take refractive index of lens n = 5/3.
(1) =20 cm (2) 20 cm (3) 40 cm ; (4) 40 cm
582555 ko n = 5/3 Ko o8 BIYEEE EbE0 MOS GoSwABIB. 8o BnE) Bok:
Yo groren Ry = 20 0.2, Hdaw Ry = 40 0.0, @owd, @ §&8 T250850 Jos ?
(1) =20 20.. (2) 20 20.ad. (3) 40 20.). (4) —40 20.qv.
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33 }th}h of the fullﬂwing converts mechanical energy into electrical energy 2

_ Motor (2) Battery (3) Generator (4) Switch
. Cob =8 atroB5 483 2es 48rm 5788 96 2
(1) 3rer8 (2) erged (3) e5666 (4) &

84 Choose correct option regarding magnetic lines of force
(1) Intersect near north-pole or south pole |
(Eq/lntersect at the neutral point
(3) Never intersect each other

(4) Intersect at the midpoint of the magnet
VA0 08 B 20 Swe HB8od B oo,

(1) &85 S s8es BIN0 &S5 OB Hr0eran
(2) étbg) 2o B¢ PoBoH Hodroy

(3) a8ordsses XY oBoHE%y)

(4) adﬁ@b&aeju e é')odﬁ:@ aﬁ%ﬁ PoBoHHodran

85 The kilowatt hour is the unit of

(1) Potential difference (2) Curreﬁt

(37" Electrical energy (4) Electrical resistance
855 w5 89 A0y, (e B
(1) oBans Hessry " (2) A8gE |

3) digE 48 (4) hg8 I65csses

86 Which of the fﬂlldwiﬁg pair of devices measure the same physical quantity ?

(1) Ammeter, Galvanometer (2) Ammeter, Voltmater
(3) Galvanometer, Voltmeter (4) Ammeter, Ohm meter
- S0b 28 $0%ores® 9 o F°88 073 Fevdran ? “

(1) o2ye6, mosies (2) ©lyeb, FShes
(3) mreoestues, 5‘%?&)&5 | (4) ©)e5, é,fbgé.)g
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- 87 Algebraic sum of potential differences in a closed loop is

(1) one (2) equal K Zero (4) none
28 S H0000S" FBANS Pare Do Todin -
(1) 288 (2) HErdd (3) owry (4) 26 B

88 Find the current (/) in the following circuit diagram
| (8o aigadh Heanod® A6Hgd (Hardro (1) dend dod ?

5Q 10 Q
WWWY VWWWY
NI
. B
I I
30V
(1) 54 (2) 44 (3) 34 4) 24
89 Unit of Magnetic flux is
(1) dyne \(2)-Weber (3) oersterd (4) gauss
®oNHI°) 08 BP0 B (e
(1) @8 - (2) &b (3) ©a0bib (4) ™S

90 * In a circuit two or more resistors are connected in parallel. Then the following quantity
is same for all the resistors
(1) Potential difference (2) Electric current
_(3) Resistance (4) Heat

2,8 HooXHod® Both Bar ©woBE0s VSRS AP gren Sdrodsorr mwmﬁm&;;mﬁlm. OJPE
©d) IgroDH 8od F°8E oB 28 AForr dotnod. i

(1) BJo0S Desion (2) M0g8 (Heriednn

(3) g8 P38 (4) &% 48
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SECTION — C : CHEMISTRY (53°0% 3°950)

91. Functional group present in carboxylic acid is
5°8°)8)08 &os® ol [Hha Shrdrdn |
(1) = CHO 2 -COOH  (3) -CO-  (4) - COOR

92 General fﬂnﬁula of alkynes
V) o © PFED P -
(1) C.H,, (2) C,H, - G) Gy @) CHy,

93 The compound formed in the following reaction is

170°
CH ~CH, -~ OH — g — 2

s (808 BEgS” ) Wy Frew DS ?

170°° .
CH, ~CH, - OH — 50, ? : .
1) CH,CHO (2) CH;~CH;  (3) CH;COOH  (4) CH,=CH,

94  Which one of the following pair belongs to same hnmﬂlngulug series ?
& 808 228" &8 Hhoerd (Bed8 BodS 208 A6 ?.

(1) CHy, CHy  (2) CHg, CyHy  13) CH,, C,H,

@ C,H,, CeH,

95 The gas liberated when metallic sodium reacts with ethanol
WS & &t dS8ao w588 23RN0 Bewdd TroKvD) ol

96 What is the prefix used for functional group aldehyde ?

@) - al | (2) - ol (3) formyl +i (@) hydroxy
SPTrB ([Fhan BEoDH GHBPACT HPse Hesim e s N |
(1) o (2) 46 (3) ¥5é (4) o8y

— ——r—
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97 T_'he bond angle in CH, molecule is

CH, wen)s® 206 S -
(1) 104° 31" —9)/109“ 28' (3) 180° (4) 120°

98 The gas fnn_ned when Zn is .treaté:d with dil. HCI is

808 deso HCl & 585 23820080 pt I8t 0ax0dy)
(1) CO, 5%;; 3) O, @) Hy

99 Which of the following molecules has a triple bond ?

& (808 —ES" 2 ey (B206rd) SO Gowod ?

Mo, © ¢ _&N,- (3) H, @) Cl,

- 100 Plaster of Paris is
6 S5 305 wdrr

(1) CaSO42H,0  (2) CaSO4H,0  (3) CaSO4+H,0 “(4)-CaSO,

101 The molecule in which the central atom has one lone pair of electrons in its valence

shell is _
WEe HSRreVY) %":e:i}a g5 25 2,080 JOF9S 2308 GI) VY
(1) CH, . -. _(9/]31?3 (3) BeCl, (4) NH,

102 Which of the following is not an ionic compound ?
[Bod 36" oY ¥ 5B B ? |
(1) Na,O (2) MgCl, (3) BeCl, ~ (4) NaCl

103 The flux used in extraction of iron from haematite is
WBE od D6 D Jo|HroDHIPH SHBrACT (D50
) CaC03 (2) SiO, (3) P,O4 (4) CaSiO,
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ok,
HS

104 Amorphous ailntmpe_nf carbon is ,:ff
- (1) Buckminsterfullerene (2) Graﬁfnite
_(3) Coal - (4) Diamond
S8 Gosy WS rrodtisn 3
(1) 2886 DO ' (2 s
(3) & (4) desn
| | 03 -
10S Which one of the following is not formed when metal carbonate reacts with dilute
E.Cid ‘? s
(1) Salt (2) Carbon dioxide (37 Hydrogen (4) Water
S 5835 v wipod® g =OAR P & (800 IS D515 96 2
(1) edeosn (2) =6)S doms\E  (3) (&S 4 5
106 Pymlusite is a ore of | P
; Yy 8
POrg e 2 o BE). ) ? i
(1) Mn (2) Mg (3) Hg .~ (4) Zn
107 Nature of nﬂn.-metal oxides is generally j: |
(1) acidic (2) basic (3) amphoteric (4) neutral

@éssa’r?’.g] H&Ew eS0T _ 8O0 dodraw.
(1) e Sgrard)  (2) 8 dgerardy  (3) B8Rgerady (4) esmg: 0garaed)

[~

108 ({ril/the process of calcination, the ore is heated in (e

Presence of O, (2) Presénce of reducing agent
Q’; Absence of O, (4) Allithe above
eﬁ?o;édsaﬂ O (B8NS Gr et Bl 30&35}2&1
(1) 0y god (2) Eo0s8ed Hivgost
(3) ‘02 ©oartnd® B ome (4) E}ﬂ)ldﬁa

109 The total number of inner transition elements in the. modern periodic table is

POLYCET-2023—C ] 24 | M collegedunia
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‘110 “Pairing of electrons in orbitals starts only when the available degenerate orbitals are
singly filled” is stated by |
. (1) Hund’s Rule (2) Pauli’s Principle
(3) Aufbau Principle ' (4) Bohr’s theory
548 Ko 50 ©B)EreD 068 a8 & JoFmIS o8 BHhard BEErEEO [P ToTDHD

©d B3da% B JoHHBY ... 0

(1) 5908 daHiimn oy (2) Dd 985 doviow
LA
- (3) uHF dovdvdn s - (4) £°5 dovdviw

111 What is the molar ratio of glgdrngen and oxygen in the formation of water ?
(=S Do B8 S SEgTod Wb 8B $638° B S oo wlyeSe BrS A

Jods ? | ; | v
1y 1:2 (2) 2571 @y il o @) 2:3

" » .q-"
I b

Fig 2t

112 Which of the following quantum numbers describes the spatial orientation of orbitals ?
1 (800 ¢36° @) 73000 VORY, WOYErY) (FBRE BAZTID) BenYHH06 ?

(1) n | (2) ¢ . (3) m, .ﬁ) m,

o i
El “'"'.'\.:.

113 Identify the correct ascenciigg order of energies of orbitals.
SLATMA) ¥8 w8’ Léa':mﬁ%a@zﬁ o°d) (LBowok.

e

()| Bs <3p<3d<ds N2) 3s < 4s < 3p < 3d

>

o

3s < 3p < 4s < 3d (4) 3s < 3d < 3p < 4s

£
L

114 How many mﬂlecules of hydrogen are present in 10 g of hydrogen ?
(1) 6.02 x 1'{_}23 molecules - ~ (2¥ 3.01 x 1023 molecules
(3) 6.02 x 10?4 molecules flr (4) 3.01 x 10%* molecules

10 (o, @28 arooHS® R (&S ey Gotran 2
(1) 6.02 x 103 emyes | (2) 3.01 x 1023 emyes

s

(3) 6.02 x 1024 weoHen (4) 3.01 x 1024 e

o T
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115 Germanium (Ge) is

(1) a metal @) an alloy (3) a non-metal (4) a metalloid
=03 dowo (Gﬁ:) DHO .
(1) &% (2) Do S (3) &G0 4) ©8S i

116 The element discovered in the place of Eka-Aluminium is

(1) Scandium (@) Gallum () Germanium  (4) Boron
ISP -@ere Ao UNS® EHR 0B e '
(1) dp080%0 (2) a0 (3) =m0 (4) oS

117 The electronegativity difference between the elements ‘A’ and ‘B’ is 3, then the bong
formed in AB molecule s - i

(1) Tonic bond (2) Covalent bond (3) Sigmad bond (4) Pi bond
‘A’ 80 ‘B’ B Both arersees DEF 208 ADEE 88 Bae 3 dos, AB ORHS® dd)
206500 ' '

(1) ©0xeds 230e580 (2) a’ma:jaaﬁm) mdﬁa‘m (3) dry 20¢580 (4) j&_:_mtﬁép

118 Which of the following represents the correct order of electronegativity among halogens ?
(S0d Té3es® #6‘3&@ QAEY. BABD WMD) Kb (S0 B ? S

(1) F>Br>Cl>] (2) F>Cl>Br>1
(3) I>Br>Cl>F ' (4) CI>F>Br>1

119 Elements possessing atomic numbers 3, 11, 19, 37 belqng o P block.
3, 11, 19, 37 s85me ORE Ko Hrersren 2rHE Bothseow.

s @ p @

120 Which one of the following molecules has higher bond angle?

(1) H,0 (2) NH, (3) CH, SRR BF,
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SECTION - D : BIOLOGY (5=~%95m)

121 In which chamber of the human heart the blood is low in oxygen ?

(1) Right atrium - (2) Right ventricle

(3) Left atrium - L4§ Right atrium and Right ventricle
APSD H0BS ) 2 KOS o d_énmés 333335 ééJa_a‘Jm Gotnod ?

(1) & 888 - (2) HS 2608

(3) b 80 | (4) 8 888 oo HA 2280¥

122 A person has loss of control on emotions, which part of brain stop its function ?

(1) Cerebrum (2 Diencephalon (3) Mid brain }Aa/{jerebellum
7 BE0ED O gt D 10D OB, o8 #5885 e FdgrroD Jaboyn S yemd 7

(1) Hxpo . (2) ogsBEo . (3) dncsg Besck (4) od DHAPo
123 Excretory UI‘gEH‘l.E; m Reptiles are -.

(1) Nephridia (2) Green gla:nds g})’( idneys (4) Flame cells

¥OHyFe S Mé e “

(1) IR (2) &0 |Hodoen (3) Sarsdoaren (4) arger Seren
124 Rubber is prepared from __ plant. YA

(1) Hevea braziliensis (2) Jatropha

(3) Neem (4) Mimosa

B2y &> . Wwod Satrts Babed@ob.

(1) Sdasr BEODHINS 2) &'

(3} 5 fo iy 2K . FR

LR
1S o

125 The alkaloid used as a sedative is : . _
(1) Nimbin " (2) Quinine (3) Nicotine

Scopolamine
I VEWelablg b GHBrAOD Eﬂ&_ﬂ“ﬂﬂ& o s .
(1) dS * (+; - (2) 8 ' - (3) IS - (4) % DS
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126 An Aphid pierces its proboscis into the to get plant juices.

(1) Xylem (2) Phloem sieve tubes

(3) Cambium (4) Pith

20 PO WK o Sred FPosErI8 ard Fokodm S°8 Fod.

(1) oeeody (2) K Svereostd 52O eren
(3) deresg eord® (4) g

127 In which year was Kolleru lake declared as a Bird Sanctuary ?
» o yBos® BBt vty 1§ Vougs Boorr HEoSto 20ACE ?
(1) 1989 (2) 1999 (3) 1979 4) 1969

128 IUCN (International Union for Conservation of Nature) was founded in which year ?

IUCN (20&50)5%65 osardon® $8 SombSs «f 5:38) 9 D0H8)806° D6 B0 ?
(1) 1948 (2) 1958 (3) 1968 (4) 1978

129 What is the name of Darwin's ship which he used for world voyage ?
(1) HMS Beagle ~ (2) KVS Don (3) LML Vespa (4) Titanic
@88 (B0t argBorr HBF°EH T8 ADBrACS T Sxh IS ?

(1) HMS 8as& (2). KVS &§ (3) LML 3y (4) B&rJE

130 Coal, Petroleum (oil) and Natural Gas Wich type of fuels ?

(1) Chemical fuels ossil fuels
(3) Sunlight (4) Water
&°0h, Do ook Bire TaHEy ) 55208 Do BoSTen 2
(1) &ra%HE mosaren ' (2) Beraz vo0garen
(3) “régs0d (4)
131 What the inter connected food chains called ? |
mﬂ:{ web (2) Food stock (3) Food scarcity (4) Food link
UG Fenine oHioerTed) Aot ?

(1) &6 erodin  (2) w8 womsdn (3) eHs 8o (4) &5 oe5d0
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132 ‘Women have which type of sex chromosomes ?
ﬁge;veﬁs £9A God Bohs (Erdtin I ? C
(1) XY 2) YY ' (3) XX_ (4) XW

133 The Ova (Gametes) produced by a woman contains how many types of sex
chromosomes ?

b woairH Dered® (@odod?) R Ssee Bohs [FRrdtivey Lo ?

1) 1 o2 3) 3 4) 4

134 What is the slurry mass of food that forms in the mouth due to chewing called ?
Mhyme (2) Chyle (3) Bolus (4) Pellets
Sroe0 Ho FBS® Sarddlhy WiFEH NG HUEH ot ? |
(1) 3 - (2) 36 - (3) s L (4) HP8ew

135 Which acid renders the acidic pH in stomach for the activity of protein digesting

enzymes ? 5 | ,

@ B0 HQ aﬁgvéﬁfmess@ pH eposvdorr r8)) [@¢ #8o ﬁ; DOBD) BEgOH
&80 ? T |

(1) HCI (2) H,S0, - (3) HNO; (4) HCO;

136 ;AC;GDI‘diIlg to Mendel's first law the monohybrid phenotypic ratio is
DOBS BB We(Bo (H5°60 IE Vo8 B)¥s ErH NS Jo 2

) 3 2) 4: 1 (3) 131wt vy 15921
137 In Chloroplast chlorophyll is present in :
(1) Stroma (2) Outer membrane
__(3) Thylakoids | : (4) Inner membrane
FOSTENHS® HSFBS0 S® &0tnod. |
(1) P> - (2) wrirg S

3) Bosowdy (4) &%® 8

SPACE FOR ROUGH WORK / & 98 Seronouseds oo

POLYCET-2023—C ] | 29 - e [PTO. .

L]
&collegedunlaa
India’s largest Student Review Platform



138 Energy currency of the cell is called

g0 By 50 éag}geﬁ

—— 0.

(1) ATP (2 "AMP (3) NADP (4) ADP
139 Dodder plant (Cuscuta) belongs to family.

(1) Malvaceae

(2) Rutaceae

(3) Rubiaceae
20 36 Ty (80 o)

(4) Convolvulaceae
HE02rd8 Bosws.

(1) &r8ed 2) e

140 Deficiency of

(3) b3 (4) Sorgenedd

. Vitamin leads to fertility disorders.
DOV S0 Doz’ SRIOES *008.

(1) A (2) B 3) D (4) E

141 Lenticelé are the respiratory ﬂfgans exists in part of plant.
(1) Roots - (2) Stem (3) Leaves (4) Flowers
P00 So|gren e W Bg) o8 ¢y BRI E wdoharey,
(1) S (2) scodsn (3) eHey

142 Stethoscope was discovered by

({1) Dal Jen

(1) Linnaeus (2) Mendel
DIV SHED) X9

(1) &dyons (2) Dodes

143 Cluster of air sacs
(1) Bronchij

GE0BH OGS D ) 8o Jov 2EOD)

in lungs are called

3 (3) 383 3§

(3) Rene Laennec (4) Maheswari

“4) Dorded

(3) Bronchioles (4) Air spaces

0erd).
(1) @edareren (2) aowftsaren 3) v dger (4) 8 KesHen
144 Mangrove plants respire with their : -
(1)- Aerial roots (2) Tap root (3) Rhizoids (4) Scales
WPOHrS B en & @2 ow. | | .
(1) =% 8 (2) &9 3% (3) Barang)y (4) evdven
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145 What is the process of joining two stems to grow as a single plant ?

(1) Layering (2) Grafting (3) Cutting - (4) Conjugation
Bodk scomren ¥ Do &8 Woyre BT AT D0 ? |
(1) wotw &y (2) ©otn Séne> (3) Pesddo (4) DoosoKBw

146 Men produce sperms from which age onwards ?
(1) 20-25 years (2) 8-10 years (3) 18-20 years (4) 13-14 years
HEHeS® d Hov Dod HEE)B oo vdd ? | |

(1) 20-25 %o. (2) 8-10 %o. (3) 18-20 %o. (4) 13-14 0.

147 Which hormone helps for the long time storage of seeds. ?

(1) Auxins ~ (2) Abscisic acid  (3) Ethylene (4) Gibberellins
D 58 % el Jgd *e0 Jog GoBE IS Wb ?
(1) ©8ySy (2) ©oDYE wpiw  (3) 2BdS (4) 2 B0

148 Flowers having both the stamens and carpels are called

(1) Asexual (2) Conjugation  (3) Bisexual (4) Unisexual
907D DB ©odE Fo BoBoED DA &) ParJOD 0o ? |
(1) ©Bon (2) Soamo (3) Bgd0fs (4) 98D

149 Diabetes is related to this gland

(1) Pancreas (2) Thyroid (3) Adrenal (4) Pituitary
DI TgHY dowoo &) ((fod
(1) S (2) Roronk (3) ©&d)Esw (4) o%rR

150 Which of the following organisms exhibit regeneration ?

(1) Planaria . (2) Homo sapiens (3) Pavo cristatus (4) Naja naja
& Bod BHoS® DB HHHSIB e ? |
(1) $Nooxe (2) & W0y (3) S 18IS (4) oree wrer
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